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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 364 3.3 0.8 4 83.2 99.7
2 365 4.1 1.4 6 67.7 100
3 363 2.7 1.8 8 33.6 99.5
4 361 3.4 1.8 7 48.9 98.9
5 359 2.6 1.6 8 33 98.4
6 334 2.3 1.5 4 58.4 91.5
7 326 0.8 0.8 4 19.4 89.3
8 314 1.1 1.1 5 22 86
9 355 2 1.2 4 48.9 97.3

10 357 1.1 1.4 6 18.5 97.8
11 363 5.4 1.8 7 77.8 99.5
12 327 0.6 0.7 2 29.4 89.6
13 344 1 0.8 2 50.4 94.3
14 357 3.9 2.7 8 48.2 97.8
15 345 0.9 0.9 3 28.4 94.5
16 336 2 1.8 12 16.9 92
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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4.	 There are many different types of network topology, of which Bus and Star are types.

	 (a)	 Draw a diagram of a Star topology network clearly labelling all important hardware.	 [3]





Sticky Note
1 mark for correct topology
1 mark for server or workstation labelled correctly.





Sticky Note
1 mark for correct topology
0 mark for switch/hub/router
1 mark for server or workstation labelled correctly





Sticky Note
1 mark for correct topology
1 mark for server or workstation labelled correctly
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10.	 Computer programs can contain different types of error.

	 (a)	 Giving an example, state what is meant by a syntax error.	 [2]

	

	

	

	

	 (b)	 Giving an example, state what is meant by a run time error.	 [2]

	

	

	

	

	 (c)	 Giving an example, state what is meant by a logical error.	 [2]
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Sticky Note
A) Good example but has not stated what a syntax error is so only one mark.
B) Good example and explanation - two marks.
C) Good example and explanation - two marks.





Sticky Note
A) Good example and explanation - two marks
B) Good example but has not quite stated what a run time error is so only one mark.
C) Good example but has not quite what a logical error is so only one mark.





Sticky Note
A) Good example and explanation - two marks
B) No explanation of run time.
C) Good example, which helps explanation, and has just about stated what a logical error is so only one mark.
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14.	 (a)	 Convert the hexadecimal number 3C to binary.	 [2]

	

	

	

	

	 (b)	 Convert the hexadecimal number 3C to denary.	 [2]

	

	

	

	

	 (c)	 Convert the binary number 11110111 to hexadecimal. 	 [2]

	

	

	

	

	 (d)	 Explain why hexadecimal numbers are often used to represent binary numbers.	 [2]
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Sticky Note
Very good answer and candidate clearly knows how to convert to Hex - might be rushing and made a simple mistake.

Candidates could have written all the hex numbers above 9 down in rough and then would not lose a simple mark.





Sticky Note
This candidate has quickly written down the Hex numbers and not made a mistake





Sticky Note
Very good answer - full marks
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2 


Q. Answer Marks MAX 


4. (a) Star:  
1 mark for correct topology 
1 mark for switch/hub/router  
1 mark for server or workstation labelled correctly 


3 marks 
3 


4. (b) Advantages of star topology compared to bus: 
If one cable/connection breaks (NOT computer) network can still operate 
Can be easier to detect faults (as can ping each station directly) 
Data has to pass through switch so more secure 
Easier to extend star / add new stations 
Different devices can transmit at different speeds 
Less data collisions (condone no collisions) 


Disadvantages of star topology compared to bus: 
If central hub or switch fails that WHOLE network (or sub-network) cannot 
operate 
Uses more cable as each station needs to be connected to switch 
More difficult / expensive to set up (cost of switch can be quite expensive 
(Bus networks are cheap to set up) 
More difficult (complex) / expensive to maintain (network manager) 


2 marks 


2 marks 


4 


Workstation 


Server 
Switch 
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Q. Answer Marks MAX 


10.(a) A syntax error is mistake in the rules  (grammar) of the language 


For example:    
IF without THEN 
missing punctuation 
key or reserved word spelt incorrectly 


NOTE: example can come from a specific language but it must be 
clear that it is a syntax error by showing what the correct word should 
be for example pring should be print, msgbos should be msgbox 


If just ‘spelling mistake’ then must have example like above 


1 mark 


1 mark 


2 


10.(b) A run time error is stops the execution of the code and are caused by: 


For example: 
division by zero 
reading past the end of file 
stack overflow / request more memory than available 
overflow of data type (for example, integer too big) 
trying to access out of range array 


1 mark 


1 mark 


2 


10.(c) A logical error is a mistake in the program – telling it to do the wrong 
thing 


For example: 
branch to the wrong statement 
call the wrong sub-routine 
A = B + C instead of A = B – C,  GrossPrice = NetPrice - VAT 
looping too many times 


1 mark 


1 mark 


2 
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Q. Answer Marks MAX 


14. (a) 3 = 0011 
C = 1100 


1 mark 


1 mark 
2 


14.(b) 3C = 0011 1100 (binary to denary) 


128 64 32 16 8 4 2 1 
0 0 1 1 1 1 0 0 
0 0 32+ 16+ 8+ 4 0 0 = 60 


Alternatively hex to denary directly 


256 16 1 
0 3 C 
0 3 x 16 = 48 1 x 10 = 12 
0 48  + 12 = 60 


Correct workings (If correct then condone no workings as workings implied) 
Correct answer 


1 mark 


1 mark 


2 


14.(c) 1111  15  F 


0111  7  7 


11110111 = F7 


1 mark 


1 mark 


2 


14.(d) Hex numbers are used: 
as a shorthand (encoded) form of binary  


because they are easier to read/write than binary 
you are less likely to make a mistake 


as Hex numbers contain few digits and letters compared to a large number of 1’s 
and 0’s 


1 mark 


1 mark 


2 





	4: 
	10: 
	14: 


